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INSTRUCTIONS TO CANDIDATES

The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 80 are printed both in English and in Kannada. Doubts
regarding the meaning and translation of Question Serial No. 1 to 80 will be settled
based on the Questions in English.

Twok blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which statements regarding the Fourth Provincial Conference of KPCC are true ?

i. It anticipated the ‘Poorna Swaraj’ resolution adopted by Indian National Congress
in its Lahore Session of 1930.

ii. It passed a resolution demanding the formation of a separate Kerala Province.
iii. It was presided over by Sarojini Naidu.
iv. It was held at Payyannur.
A) i, ii and iii B) ii, iii and iv
C) i,iiand iv D) i, iii and iv
2. Find out the Malayalam novels with Wayanad and its people as themes, from the
list given below.
i. ‘Ummachu’ by Uroob
ii. ‘Nellu’ by P. Valsala
iii. ‘Maveli Manram’ by K. J. Baby
iv. ‘Orotha by Kakkanadan

A) i, ii, iii B) i, iii, iv
C) i, ii, iv D) i, iii, iv
3. Who wrote :“l am convinced that the only key to the solution of World’s problems
and of India’s problems lies in Socialism. .. ” ?
A) Karl Marx

B) Bhagat Singh
C) Subhash Chandra Bose
D) Jawaharlal Nehru

4. Trace out the personalities not related to ‘The Provisional Government of India’
established at Kabul.

i. Captain Lakshmi
ii. Mahendra Pratap
iii. Chempakaraman Pillai
iv. Subhash Chandra Bose
A) i, ii B) i, iii
C) iii, iv D) i, iv
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5. Find out the correctly matched details regarding some major World Organizations
listed below.

i. The League of Nations — Woodrow Wilson — Treaty of Versailles.
ii. The United Nations — Franklin D. Roosevelt — The Atlantic Charter.
iii. The Commonwealth of Nations — Arthur James Balfour — Statute of Westminster
A) All of the above B) i andii only
C) ii and iii only D) None of the above

6. Amendment to which of the following made possible the ‘Har Ghar Tiranga’ campaign
related to ‘Azadi Ka Amruth Mahotsav’ ?

i. The Emblems and Names (Prevention of Improper Use) Act, 1950.
ii. Flag Code of India, 2002.
iii. The Prevention of Insults to National Honour Act, 1971.
A) All of the above  B) ii only C) ii andiii D) iandiii

7. Match the following :

List -1 List-1I

a. Chenab I. Tsangpo

b. Chambal II. Dhuan Dhar Falls

c. Brahmaputra Ill. Bara Lacha Pass

d. Narmada IV. Badland topography
Codes :

A) a-IvV b-ll c—1 d—Ii

B) a-llll b-IV c-I d-1ll

C) a-ll b-1 c—Iv. d-l

D) a-I b-IV c-1l d-Il

8. Assertion (A) : Gulf stream combines with Labrador current produce dense fog in
North Atlantic.

Reason (R) : When warm currents meet with cold current inversion of temperature
happens.

Codes :

A) Both (A) and (R) are true, (R) is the correct explanation of (A)

B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A) is true, but (R) is false

D) (A) is false, but (R) is true
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A) B¢ 0T B) ii 3%3, C) ii &=y il D) i =00 iii
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=~ | e~ 1l

a. Boow® l. @Norﬁagpe
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C. WRIT, M. 23200 @03 Tox°
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A) a-1IV b -1l c—|I d-1l

B) a-ll b-1IV c—I d-1l

C) a-ll b-1 c—1Vv d-1l

D) a-|I b-IV. c-lll  d-ll
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TodeSned ¢

A) (A) &= (R) N¥c@Ee 70, (R) 2202080 (A) 202008 FeS0e8e 8 Qm0me3nnG

B) (A) @020 (R) n¥S@ER 30, =TT (R) 20000 (A) 200083 BOTEE WRTEHO0Y,
C) (A) 20200 7D, &TT (R) 00T BF),

D) (A) 2002080 %), 3T (R) 2020080 8O
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9. Which of the following statements are correct ?
a. Meeting of trade winds take place within a narrow zone called Intertropical
Convergence Zone.
b. Doldrum is the belt of calm and variable wind.

c. The subtropical high-pressure belt between 25° and 40° latitudes is known as horse
latitude.

d. Westerlies blow in between 60° and 90° latitudes.
Codes :

A) Statement a and b are correct and ¢ and d are incorrect
B) Statement b and d are correct and a and c¢ are incorrect
C) Statement b, c, d are correct and a is incorrect

D) Statement a, b, ¢ are correct and d is incorrect

10. Indian topographical maps based on different scale is given below. Choose the
correct order based on large scale in ascending order.

A) Million Sheet, Quadrant Sheet, 15' Sheet, Degree Sheet
B) Million Sheet, Degree Sheet, Quadrant Sheet, 15 Sheet
C) Million Sheet, 15 Sheet, Degree Sheet, Quadrant Sheet
D) Million Sheet, Quadrant Sheet, Degree Sheet, 15 Sheet

11. The mineral based industries of Kerala and their location is given below. Select the
correct answer using the code given below in the list.

List -1 List =1l
(Industry) (Location)
I. Indian Rare Earth Limited a. Thiruvananthapuram
Il. Travancore Cements Limited b. Kannur

lll. Kerala Clays and Ceramic Products Limited  c. Chavara

IV. English Indian Clays Limited d. Kottayam
Codes :

A)l-d Ill-b lll-—a IV-c

BylI-b Ill-a lll-c IV-d

C)l-c II-d W-=b IV-a

D)l-a ll-d lll-b IV-c



9.

10.

11.

130/22 - K

FSNT 0309 TePFNTO FOCTNES 2
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A l-d Il-b l-a IV-c
B)I-b Il-a l-c IV-d
C)l-c IlI-d l-b IV-a
D)l-a Il-d lN-b IV-c



130/22 - K

12.

13.
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15.

16.

The theme of Earth Day 2022
A) Invest in our planet

B) Protect our species

C) Restore our earth

D) End Plastic Pollution

Consider the following statements concerning GST :

i. GST is a unified form of indirect tax in India.

i. The GST came into force in India with effect from 15 July 2017.

iii. The Union Finance Minister is the Chairperson of the GST Council.
iv. CGST, SGST, IGST, UTGST and CESS are different types of GST.
Which of the above statements are correct ?

A) iandii B) iii only

C) i, iiiand iv D) i, ii, iii and iv
Which five-year plan in India was framed based on Mahalanobis model of Indian
economic planning ?

A) Sixth five-year plan B) Third five-year plan

C) Fourth five-year plan D) Second five-year plan

Which State in India is the largest producer of bauxite ?
A) Odisha B) Chhattisgarh
C) Maharashtra D) Madhya Pradesh

The main objective of the New Economic Policy (NEP) of India (1991)
i. To bring down poverty and unemployment.
ii. To bring down the rate of inflation and remove imbalances in payment.

iii. Tomove towards a higher economic growth rate and build sufficient foreign exchange
reserves.
iv. To plunge the Indian economy into the arena of Globalization and to give it a new
thrust on market orientation.
Which of the above statements are not correct ?
A) ionly B) i and iii

C) i, iii and iv D) i, ii, iii and iv
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L BT WY TR, eTies=), SNFOYT0.
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17. ldentify the financial institution working with the mission to promote sustainable
and equitable agriculture and rural development through participative financial and

non-financial interventions, innovations, technology and institutional development
for securing prosperity.

A) LIC

B) IDBI
C) IRDA

D) NABARD

18. Which nation occupies the top spot in the World Happiness Report 2022 ?

A) Ireland B) Iceland C) Finland D) Switzerland

19. Right to free and compulsory education is upto

A) 10 years B) 14 years C) 15 years D) 18 years

20. For which of the rights guaranteed under Article 19 the interest of sovereignty and
integrity of India is not a ground of restriction ?
A) Freedom of Speech and Expression
B) Freedom of Association
C) Freedom of Movement
D) Freedom of Assembly

21. Which provision of the Constitution reflects doctrine of pleasure ?

A) Article 310 B) Article 210
C) Article 312 D) Article 313

22. Chairperson of GST Council
A) Prime Minister

B) President
C) Union Finance Minister

D) RBI Governor

23. National emergency can be declared on the following grounds

A) War or external aggression or armed rebellion
B) Failure of constitutional machinery

C) Financial stability or credit of India or of any part of the territory thereof is
threatened

D) All the above

24. Which provision of the Constitution provides for the establishments of Administrative
Tribunals ?

A) Article 323

B) Article 323 A
C) Article 323 B

D) None of the above

-10-
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25. Article 338 of the Constitution provides for the establishment of
A) National Commission for Scheduled Castes
B) National Commission for Women
C) National Commission for Backward Classes
D) National Human Rights Commission

26. Which Article of the Constitution imposes a duty on the Union to promote the spread
of Hindi language ?
A) Article 349 B) Article 350
C) Article 350-A D) Article 351

27. Who is the present Comptroller and Auditor General of India ?
A) Girish Chandra Murmu
B) R. Venkataramani
C) Dr. Bhagwan Lal Sahni
D) Dr. Manoj Soni

28. The Sarkaria Commission was headed by Justice Rajinder Singh Sarkaria.
Who were the other two members ?

i. B. Sivaraman
i. Dr. S. R. Sen
iii. K. Kunjaman
iv. Justice J. Patil
A) Onlyi B) All of the above
C) Onlyiandii D) None of the above

29. Jeremy Bentham laid down certain criteria for measuring pleasure and pain. It is

known as
A) Felicific calculus B) Materialism
C) Labour theory D) Surplus value

30. Who coined the term ‘Psephology’ ?
A) C. H. Thakkur B) Martin Viadimir
C) Thomas Jefferson D) R. B. McCallum

A -12-
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31.

32.

33.

34.

35.

36.

37.

The four basis of departmentalisation, Purpose, Process, Persons and Place popularly
known as the “4Ps”, is a concept developed by

a. Luther Gulick
b. Chester Bernard
c. Woodrow Wilson
d. Lyndall Urwick

A) Onlycandd B) Onlyaandd

C) Onlyaandb D) None of the above

Who wrote the book “The Problem of Rupee : Its origin and its solution” ?
A) Annie Besant B) J. B. Kripalani

C) B. R. Ambedkar D) Charu Majumdar

The Kerala State Commission for Protection of Child Rights came into existence on
3" June 2013. Who is the present Chairman of the Commission ?

A) K. V. Manoj Kumar B) Justice Sreedevi
C) Dr. Radhakrishnan D) Justice K. G. Balakrishnan

A laboratory technique used to establish a link between biological evidence and a
suspect in a criminal investigation is

A) Polymerase chain reaction B) DNA sequencing
C) DNA fingerprinting D) Gel electrophoresis

The chemical which accumulates in the muscle causing tiredness, when you try to
chase a person is

A) Acetic acid B) Alpha-Lipoic acid
C) Linolenic acid D) Lactic acid

The immune cells usually attacked by AIDS virus is
A) T. lymphocytes B) B. lymphocytes
C) Natural killer cells D) All the above

The indirect protection from an infectious disease that happens when a population is
immune either through vaccination orimmunity developed through previous infection
is called

i. Population immunity

ii. Cell mediated immunity

iii. Innate immunity

iv. Herd immunity

A) iandiii B) iiand iv C) ii andiii D) iandiv
-14-
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38. Mass drug administration is administered by the government to eradicate

39.

40.

41,

42.

43.

44,

A) Malaria B) Filaria
C) Dengue D) Chikungunya

A ball is thrown with a velocity u at an angle 6 with the horizontal. At the highest
point of its flight, the horizontal velocity is

A) zero B) ucos6 C) usiné D) u
Which one of the following is in the increasing order of wavelength ?

A) Infrared, Ultraviolet, X-ray B) X-ray, Infrared, Ultraviolet
C) Ultraviolet, Infrared, X-ray D) X-ray, Ultraviolet, Infrared

A piece of wood of total volume V is floating on the surface of a liquid of density p.
If the density of wood is d, the volume of wood immersed in the liquid is

Vd Vp pd \'
A) — B) . C) Vv D) od
Nobel prize in Physics 2021 was awarded partially to Syukuro Manabe and Klaus
Hasselmann for their studies related to
A) Properties of exoplanets
B) Cosmological models
C) Global warming predictions
D) Photoelectric emissions

Given van der Waals constant ‘a’ for NH3, COZ, NO and F2 are 4.225, 3.658, 1.460
and 1.171 respectively. Which one of these gases is most easily liquefied ?

A) CO, B) NO
C) NH3 D) None of the above

Astatine is the element below iodine in group 17 of the periodic table. Which of the
following statements is not true ?

A) ltis less electronegative than iodine

B) It will exhibit only-1 oxidation state

C) Itis a dangerously radioactive element

D) Itis the heaviest member of the halogen elements
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45. Fear or excitement, generally cause one to breathe rapidly and results in the decrease

46.

47.

48.

49.

50.

51.

52.

of concentration of 002 in blood. In what way it will change pH of blood ?
A) pH will be increased

B) pH will be decreased

C) no change

D) pH will be 7

Which organization has developed high-strength beta titanium alloy to be used in
aerospace applications ?

A) The Defence Research and Development Organisation (DRDO)
B) Indian Space Research Organization (ISRO)

C) American Institute of Aeronautics and Astronautics (AIAA)

D) The National Technical Research Organisation (NTRO)

Who among these was the director of the movie “The Power of Dog’ ?
A) Steven Spielberg B) Paul Anderson

C) Jane Campion D) Chloe Zhao

Who was the winner of Australian open 2022 Women'’s Singles Final ?
A) Danielle Collins B) Simona Halep

C) Naomi Osaka D) Ashleigh Barty

Jain temple ‘Vishnugudi Basadi’ also known as Kallambalam is situated in which
district ?

A) Wayanad B) Kasargod

C) Palakkad D) Kozhikode

Who is the present Chairman of Kerala Lalitha Kala Akademi ?

A) Nemom Pushparaj B) Murali Cheeroth

C) Abdul Kareem D) P.V. Balan

Four times the first of three consecutive odd integers is 6 more than twice the third.
What is the second integer ?

A) 11 B) 13 C) 9 D) 15
Milk contains 7% water. What quantity of pure milk should be added to 10 litres of
milk to reduce this to 4% ?

A) 6 litres B) 7.5 litres
C) 6.5 litres D) 8.5 litres

-18-



45.

46.

47.

48.

49.

50.

51.

52.

130/22 - K

2303 BT YUTITTTD AT, 30N TeMEoN LLATIBEED TITEITINITES 082 TWOFFORION
T, CO, F0T3B0I0 FRHOIRMHZTI. 9T 03 0ed0DY, T pHET, LBERCWRTT ?
A) pH S8

B) pH 3&z0035n08d

C) WTBRT 3Y,

D) pH 7 sncogcs

003 FOFI0 NURIET® OQFTTNYY, WIHRLD TS TROFFT Weemd ¢ e5e00ddo
0Z, SRETHTI), BRT QBRI ?

A) TE5o0 BoBReEs B OR,0, xo%(DRDO)

B) to08ecdd 23959,593 Bo3ReTD r)oz); (ISRO)

C) w0083 AT RLR, T SF° DTRETILIT | 5,008 @ﬂ%eméﬁf: (AIAA)

D) Togye0d 20083 BO3RETID xoﬂQ(NTRO)

BWTA, ‘0 TRT* ST T WOTP,T ATeFJFTO €T ?

A) ReTT RCONE B) o<* &, 0BT AT

C) Be® 9, 0,030 D) grea Somvaee

20223 =3 eO0IT* LTI Bd&TD WONS® | FISTTY, 0IRTO DeESTINTTO 2
A) B0 5O B) 230050 Tods®

C) Ipeew 2B D) ©,3¢ wotde

TQOWO 0T FTOL LM 2T TEmOOD ‘DTYMOR WD’ 030 03 BGo0YT 2
A) ZoDTT® B) woxoninesd

C) womE D) 3negdnew®

0¥ 0O 3U0 WTELCD TAT T TTY 03RRI ?

A) SeRp0 FRooe® B) 0039 w3¢does®

C) wwoe? FOC0 D) &. Q. W3

BTV AT U FRTer 0BNYE BRTONCTT 4 wé,sawmxwﬁo:bdd @czrbsazioa' 6 %zsawﬁd,
TOTHT ATBIOI FRFFF 0T CIRRTD ?

A) 11 B) 13 C) 9 D) 15

TILD 7% TS, BRODT. QTI), 4%7T, BNFD 10 Iewdt® oAk 3R T,BReass 30T
TIOTY, A0 ?

A) 6 dew3® B) 7.5 det3o®

C) 6.5 dee3v® D) 8.5 Oee3ot

-19-



130/22 - K

53.

54.

55.

56.

57.

58.

59.

60.

61.

If goods are purchased for Rs. 240 and one-third of them sold at a loss of 7%, then at
what profit percentage should the rest be sold to obtain an overall profit percentage
of 5% ?

A) 10% B) 12% C) 14% D) 11%

If a carton containing a dozen mirrors is dropped, which of the following cannot be
the ratio of broken to unbroken mirrors ?

A) 2:1 B) 2:3 C) 3:1 D) 5:7

A tyre has two punctures. The first puncture alone would have made the tyre flat in
10 minutes and the second alone would have done it in 8 minutes. If air leaks out
at a constant rate, how long does it take both punctures together to make it flat ?

A) 1%minutes B) S%minutes

, 4
C) 3% minutes D) 45 minutes

A clock is set right at 9 a.m. The clock gains 10 minutes in 24 hours. What will be
the true time when the clock indicates 2 p.m. on the following day ?

A) 48 minutes past 1 B) 52 minutes past 1
C) 46 minutes past 1 D) 49 minutes past 1

Drill : Bore : : Sieve :
A) Pry B) Thresh C) Sift D) Rinse

Find out the wrong term in the number series :
8, 14, 26, 48, 98, 194, 386
A) 194 B) 48 C) 98 D) 14

Ravi walks 9 km towards North. From there, he walks 5 km towards South. Then
he walks 3 km towards East. How far and in which direction is he with reference to
his starting point ?

A) 5 km, South-East B) 5 km, North-East

C) 7 km, South-East D) 7 km, North-East

On 10" March 2005 falls on Friday. What day of the week was it on 10" March 2004 ?
A) Monday B) Tuesday C) Wednesday D) Thursday
Green Marketing principles relates to

A) Agriculture Marketing B) Preservation of Environment

C) Social Marketing Environment D) Organic Product Marketing

-20-



130/22 - K

53. 240 cn.non ATBONTIY, 0L SYNTY, TORTIe 2,080 gIon ATFR), 7% SHTQ [T

54.

55.

56.

57.

58.

59.

60.

61.

RWRRTT, LVPTTTY, 230 5%3T &Yl o3t TEOHLO DTS &Y 3e8REA, RBPTLIeR 2
A) 10% B) 12% C) 14% D) 11%

2,003 BE' B RNYSY BHODTI TE3S FeOILOTI) WePATIT, 54 FENTINTQY, 03mYTd
LEODNT TJRNIA LET FZRNE STITNTOR O, ?

A) 2:1 B) 2:3 C) 38:1 D) 5:7

20T &,0NT R DB TOFONYE. BATY ToFO* wodde 10 ALORNYY, €,030TTY
TR BREOIZ) T DTEHODT 80T 8 AATNTY, QTR BREIES). MY %()pd
T, BRODTY, ARCOFOINTT, DTBER TOFTNTL Fed &, 030TI) ep_c)o%ﬁe BNFOO R, ATOCD
BRTOBRIZT 2

A) 1% DTS B) 3% DTS
C) 3% DRITRE D) 4% DRIERE
.00 RCIRTNRY Yo, 9 notrt FOCIPA BRODITING. NRCIRTR 24 HOERTS,

10 QOWTFRY, AYROTT. NROIITEY [OODT LT 07, T 2 NOWOIT) ARLATIT, AwwT
RO T, ?

A) 1 noed 48 RN B) 1 notd 52 Qe0RMD

C) 1 notd 46 oRND D) 1 rotd 49 Qa0RMed

& : WBRET® 1 1 AR ¢

A) B, B) = C) a3, D) o%

%0539, B3E30300, 37 K083, OB, FORBRRA0 :
8, 14, 26, 48, 98, 194, 386
A) 194 B) 48 C) 98 D) 14

O YVZTE 9 8.c0¢. FHOI0TY. BT I TWEEaE 5 §.0¢. SWOITS. BT T

?’gj@ﬁi—‘@rﬁ §.2000. 5630533@5. 300233 WOTVNNO0D 95330 @%Mdd@&@g o3 @113@.2}
QBT ?

A) 5 3.20¢., &} ecdd B) 5 3.20¢., 5599,

C) 7 s.c0e., &1 ecd D) 7 .80¢., 83303,

20053 &0s'e 10 298,359T9N3 T, 20043 &02°F 10 35903 0350 DTN ?
A) BRemow3d B) von$=meos C) wop=eT D) nodomes
BT TWITITES 0 FINED QY FOLORAE

A) 3 mcmgd B) ©0xow xodgﬁ

C) moz502%3 mmﬁé’w Ssleryle) D) mozoddss evds mmsag

21-



130/22 - K

62. ‘Marketing Myopia’ is based upon

A) Current product offering

B) Forecasting the future product offering
C) Dropping a product

D) Adding a product

63. Promotion Mix includes

64.

65.

66.

67.

A) Physical attributes, brand, package and PLC

B) Advertising, publicity, personnel selling and promotion

C) Transportation, material handling, packaging and customer service
D) Brand name, product benefits, delivery and credit

Marketing concept is

A) Exchange concept B) Material concept

C) Supply concept D) Agreement concept

Skimming pricing implies
A) Experimental pricing B) Low pricing

C) High pricing D) None of the above

Which among the following has not described the scope of Human Resource
Management according to the Indian Institute of Personnel Management ?

A) The Personnel Aspect
B) The Welfare Aspect
C) The Indian Relations Aspect

D) The Economic Aspect

Human Resource Planning is the process of determining manpower requirement
and the means for meeting those requirements in order to carry out the integrated
plans of the organisation. Who said this ?

A) Bruce P. Coleman B) Peter F. Drucker
C) Edwin B. Flippo D) Henry Fayol
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68.

69.

70.

71.

72.

73.

74.

RJP is an approach used to match the organisational needs with that of the applicants.
RJP stands for

A) Ready Job Process

B) Real Job Performance

C) Realistic Job Preview

D) Rating in Job Participation

Which among the following is not a modern method of performance appraisal ?
A) BARS B) MBO
C) Field Review D) Assessment Centre

Clayton Alderfer’'s Theory of Motivation is
A) ERG Theory B) Theory Z
C) Two Factor Theory D) Vroom’s Expectancy Theory

Which among the following is not a capital receipt ?

A) Dividend on investment

B) Bonus shares

C) Sale of know-how

D) Compensation received from vacating business place

Which of the following is not related to overall market variability ?
A) Financial risk

B) Interest rate risk

C) Purchasing power risk

D) Market risk

Which of the following tax rates is not applicable under GST ?
A) 5% B) 12% C) 25% D) 18%

Inflation free instrument is
A) Option Bond

B) Variable Rate Bond

C) Index Linked Guilt Bond
D) Deep Discount Bond
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75.

76.

77.

78.

79.

80.

What is ‘NIKKEI’ ?

A) Share Price Index of Tokyo Share Market

B) Name of Japanese Central Bank

C) The Japanese name of country’s planning commission
D) Foreign Exchange Market of Japan

Which of the following factors contributed to the development of corporate
communication ?

A) a unified way of looking at ‘internal’ and ‘external’ communication disciplines.

B) advancement in digital technology

C) comprehensive understanding of the organizational environment and stakeholders
D) all of the above

The dissemination of factual information regarding an organization’s past actions is
critical in the development of its

A) Propaganda B) Reputation

C) Spin D) Advocacy

The fundamental difference between the Code of Athens and the Code of Venice
was the incorporation in the former.

A) Ethics

B) Professional Conduct
C) Marketing Communication
D) Corporate Governance

Public relations that are effective guarantee

A) One-way, centralised, symmetrical internal communication
B) Two-way, participatory, asymmetrical internal communication
C) Two-way, participatory, symmetrical internal communication
D) One-way, participatory, symmetrical internal communication

Which of the professional standards listed below contributes to a well-informed public
debate ?

A) Honesty B) Advocacy
C) Loyalty D) Integrity
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81. What is the antonym of the word ‘nadir’ ?

A) Ravage B) Abundant C) Zenith D) Solicit
82. Supply the correct verb.
Jim, together with his son the project.
A) introducing B) introduces C) introduce D) are introducing

83. Correct the sentence.
Liona refrained to pay the fees.
A) Liona refrained from paying the fees  B) Liona refrained at paying the fees
C) Liona refrained to paying the fees D) Liona refrained by paying the fees

84. Fill in the blank space with a question tag.
Nobody came, ?
A) Do they B) Didn’t they C) Did they D) Don'’t they

85. Fill in the blank space with the correct preposition.
, it is already late.
A) Beyond B) Beside C) Besides D) Between

86. Convert the sentence into indirect speech.
The teacher asked him, ‘are you ill 7’
A) The teacher asked him if he was ill.
B) The teacher ordered him whether he was ill.
C) The teacher told him if he was ill.
D) The teacher asked him he was ill.

87. Fillin the blank space with the appropriate word.
The snacks were when the mother came.
A) All ready B) Already C) Altogether D) All together

88. Convert into active voice.
The car has been repaired.
A) Someone repaired the car B) The car was repaired by someone
C) Someone have repaired the car D) Someone has repaired the car

89. Supply the right idiom.

Sam for the fancy number.
A) Made quite a bit of headway B) Paid through the nose
C) Got afinger in every pie D) Had an axe to grind

90. Fillin the blank space with the apt phrasal verb.
Is anybody willing to the task ?
A) Take off B) Take for C) Take on D) Take in
A -28-
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